Find the slope (m) for the ordered pairs

1) (3, 10) & (5,16)

mrn_ the slope (m) for the ordered pairs

4) (2, -6) & (5, -18)

m=

1) (4,7)&(7,16)

me=

4) (0, 8) & (2, 0)

2) nm,: & (6, -1)

5) (0, -2) & (4, -12)

2) (3, -8) & (6, -10)

5) (0, 2) & (6, -13)

BH m= m= m=
3)(20,7) & (8, 4) 6)(2,-2) & (4,0) 3)(17,6) & (1, 2) 6)(2,4) & (3, 5)
_‘:ﬂw m= m= m=
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PARTNER 1: Find the slope (m) for the following tables PARTNER 2: Find the slope {m) for the foliowing tables
1 4 1 4)
) X ¥ ) X ¥ ) X y ) X ¥y
-1 3 2 | -2 4 | 7 2 | 6
o 1 0 3 0 5 0 | -1
1 -1 2 8 1 3 2 4
2 | -3 4 | 13 2 1 4 9
2) 5) 2) 5)
X v X ¥ X ¥ X ¥
4 7 -3 6 -1 -4 -3 4
5 8 0 5 0 ~3 0 3
6 9 3 4 1| -2 3 2
7 10 5 3 2 -1 6 1
' 3) 6) 3) 6)
X y X ¥ X ¥ X Y
0 | 12 0] 3 4 | 4 I
4 g ~5 4 o 1 7 -2
0 7 12 1
8 6 A 2
. S 10 17 4
12 3 i -5




